w2 Bt E 2

il

THAEE
SEMRERAERFHERRER

GEM BRGNS CEDLRER




o
el
L
53
% | Of
bt

% B3l 1 g | HE
IhEXMERTL " ,
ES—rI n2 100
BEL— FETE m 6.0
BRETL (M) ® 1
B EmAD) 2 200
BRET [KEMK] % 1
fin - EmAD) w1590
BREL [MEM#hEX] = 1
e 2 | 1500




¥ =2 =
M = 5 OE £
_ @ PN B .
' 5 BENRI-BREL e x| reeumns) x 20 020 % #HY
% # " = 5 2
BERET
£ 510. 0 m2
fBFEL— T PFEL—FT 510.0 m2 510. 0 m2
£t 196.0 m
fFES— FETE fFE S — FETE 196.0m 196.0m
B T R
B gR [ ] S 54 201.0 m2
(FEA - ERED) VEDLYRBM 201.0 m2 1[|] 201.0 m2
BMEI[KFEHEK]
Bt (AT ] 5t 159. 0 m2
(FBA - ERED) REREFRT 159. 0 m2 1[|] 159. 0 m2
BREE T [P lRh[X]
g [ 15 8 ] £ 54 150. 0 m2
(FBA - BiRED) AMEANEOR 150. 0 m2 1[E] 150. 0 m2




SHEL — b L B EHHA

=S

5 (100m™4 1))
(=% X)
B, SOmEL FUh—EY 40074 (4.002/m)
@) O @) () O O O O O @)
50cm
LA N
L
100cm A O O O O
O O @) O O O
@) ) % @) O
O O O @) O O O O @) O
v— b DTy ERAEEY10 cmllE
T U= O T — W (10em X 10cm) 21T 9
4 R &t B = BN % &
it —
%?Rﬂg_‘z/ogh A= = 120.0 | m® 120. 0
A
TUH—E
URBlT v —E 3 -
o X 950m N= = 400.0 | &K 400. 0
T
wBERT—7
FHYTF—7 | L= = 1.6 | % 1.6
[F) 45




